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HEHA &ga, 2AA BAAHEZQ Be, YK, U S°l 247 0.00229 ~0.00570
Bq/m’, E7%&~0.00189 Bq/m’, EHZ&
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Table 6. 37] 2 H&E 4 A7

= | B4 | zporars 371(Bq/’) TA2017-17 o
A | ¥z | MDA 2§73 787 MDA =
1 | "Be N/A 0.00229+0.0000509 | 0.00570-0.0000646 N/A EAE
2 | YK N/A 0.00189i0.0000702 BEAE N/A 0.264+0.0104
3 | °'Cr 5E-03 Z(<1.11E4) | 7 Z(<1.04E-4) 1 £ 7 %(<0.0209)
4 [*Mn| 8E-05 %(<1 85E-5) | B4 Z(<1.33E-5) 0.5 E 7 £(<0.0029)
5 | ”Co N/A BEAE BEAE N/A ey
6 | ®Co 3E-04 | 4 Z(<1.60E-5) | &7 %(<1.33E-5) 0.05 E712(<0.0032)
7 | ¥Fe 5E-04 E7ZE(1.73E-5) | 7 ZE(1.97E-5) 0.03 E71£(<0.0059)
8 | “Co 8E-05 | 7 &(<3.82E-5) | 7 &(<1.30E-5) 0.02 E 3 £(<0.0033)
9 | “Zn 5E-04 | B3 Z(<2.09E-5) | &7 Z(<3.03E-5) 0.05 E 7 E(<0.0064)
10 | ®sr N/A BERE BAE N/A ERE
11 | ®¥Kr N/A ek 4= N/A 4=
12 | ¥y N/A EA=E ERE N/A 4=
13 | *Zr 5B-04 | B4 E(<3.33E-5) | B4 &(<2.35E-5) 0.5 B4 £(<0.0053)
14 | ®Nb | 5E-04 | BEHZ(<2.23E-5) | B3 E(<1.41E-5) 0.5 £ 712(<0.0035)
15 | 'Rh | N/A EAE BEA=E N/A ks
16 | '“Ru N/A ks BEAE N/A ks
17 | 'Rh N/A ek ) e N/A ek
18 |'®Cd| N/A ey BEAE N/A A=
19 [10mA N/A ek 4= N/A 4=
20 | Psn N/A ek BEAZ N/A EA4=
21 | 1 5B-02 | B E(<4.54E-5) | B4 E(<2.12E-5) 0.1 B4 £(<0.0044)
22 | ¥Xe N/A ks BAE N/A ek
23 |9mXe|  N/A BHE BH= N/A BEAE
24 | P'Cs | 8E-05 | BEHZ(<LYIES) | EHZ(<1.26E-5) [ 0.008 E 71 £(<0.0030)
25 | ¥'Cs | 8E-05 | B3 E(<1.85E-5) | B E(<1.39E-5) |  0.008 E 3 £(<0.0031)
26 | "PCe N/A =H4E BEAE N/A EA=E
27 | ’Ba 0.1 E 7] E(<6.87E-5) | B7 E(<6.09E-5) 10 E 3 £(<0.013)
28 | "La 0.1 E 7 E(<1.25E-4) | B7] E(<8.36E-H) 10 E 3 £(<0.049)
29 | M Ce N/A ek EHE N/A ERE
30 | Ce N/A EXE ks N/A ey
31 | MCe N/A BHE BHE N/A BEAE
32 | %71 N/A ek 1= N/A ek
33 | *?Bi N/A ek ) e N/A ek
34 | ??Pb N/A ks 4= N/A EHE
35 | 2“Bi N/A BERE BAE N/A ek
36 | ?"“Pb N/A BEAE 4= N/A 4=
37 | #°Ra N/A ey EAZ N/A EA4=
38 | *’Th N/A EHE BEA=E N/A ey
39 | Z8Ac N/A BHE BHE N/A BEAE
40 | U N/A 7.96E-5+5.88E-6 B2HE N/A 0.0168+0.00120
41 | ?'U N/A ERE 2= N/A ks
1. ‘Be(MZF), “KZH), PU(SeHe) e Ad A EdR S Bejrt deskd] &
2. MDA(Minimum Detectable Activity)= &% &8 AN
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Table 8. 3 E4ZA7(BqL)

1. “KEH), *Ra(ZHs), ZU(S-eHe)S A IAEEdE 5

2. MDA(Minimum Detectable Activity)= 3 42HEWAs

_8_

&d | gz | VAETE AAA d3lZ k]
1 "Be N/A 2H4E BEAZ
2 K N/A 0.271+00720 0.364+0.00673
3 *'Cr 0.05 B4 F(<0.01.18) =4 E(<0.0106)
4 >*Mn 0.005 E7] &(<0.00116) £71%(<0.00111)
5 Co N/A =4s =dE
6 *Co 0.005 £ E(<0.00112) =4 E(<0.00122)
7 *Fe 0.005 £7] &(<0.00181) £ 7] &(<0.00255)
8 *Co 0.005 £ 3(<0.00173) £ 2(<0.00135)
9 *Zn 0.02 £ £(<0.00240) £ 2(<0.00262)
10 5y N/A =HE =HE
11 ¥Kr N/A A= 4=
12 8By N/A s ek
13 ®Zr 0.006 £71%(<0.00200) £ 712(<0.00192)
14 *Nb 0.006 E7]&(<0.00118) £ 7 %(<0.00135)
15 IRh N/A B4= BH=
16 1®Ru N/A B4 B4=
17 1%Rh N/A 4= 4=
18 19¢cq N/A A= 4=
19 HomA o N/A 4= 4=
20 35n N/A BHE 4=
21 ! 0.1 E 3 Z(<0.0260 E 7 £(<0.0199)
22 BXe N/A EHE EXE
23 135my e N/A A= EH4E
24 BiCs 0.003 £ 71%(<0.00108) £ 712(<0.00087)
s | e | ow | WRRONED | VUGN
26 ¥Ce N/A EA= EA=
27 1404 0.1 E7] £(<0.00450) E7 Z(<0.00605)
28 0L 0.1 E 7 £(<0.00194) £ 7 2(<0.00947)
29 Ce N/A Ed= =
30 HCe N/A BEAE ek
31 e N/A B4 B4=
32 2087] N/A 4= 4=
33 212g; N/A 4= 4=
34 22pp N/A 4= 4=
35 214Bj N/A BHE 4=
36 Z4pp N/A BHE 4=
37 26Ra N/A 0.0438+0.00613 B4E
38 27Th N/A A= E4=
39 2Ac N/A EAZ B4
40 2y N/A B4= 0.00515+0.000358
41 By N/A EAZE ==

g A7t ek o
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2021 1€l el AW ZFoASAPGntSI AAA FRE A%
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U Fol AEHAL, ol AT TE HAE A4 EHIE~585 Bq/kgdry,
684~ 743 Bq/kg—dry, 37.58~39.8 Bq/kg-dry, E4%&~235Bq/kg-dry® UEMGIL
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ZAE F 2 Ade] YCs w5 Wl 149~225 Bq/kg-dryZ YERR L,
A E A s ANA HE 3dZH2017d ~20199) A= SIAFHES
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Table 9. A8 £423}(Bq/kg-fresh)

S =
ol 9z |2 AD017-17% 1€ A-EIAEHE) H| 3L
L (] MDA -
e AA Al
1 "Be N/A 5.85+0.763 EXE
2 K N/A 743+5.56 684+5.70
3 ’ICr 15 71%(<3.98) EAE(<1.33)
4 | *Mn 2 B Z(<0.521) B Z(<0.526)
5 | 7Co N/A 2= BAE
6 **Co 2 B E(<0.484) B E(<0473)
7 *Fe 5 EAE(<1.06) B E(<0.719)
8 %Co 2 E 7 Z(<0.684) E 7 Z(<0.770)
9 ©7Zn 5 EAZ(<1.18) EAE(<1.27)
10 $oGr N/A B ks
11 8Kr N/A ek ek
| %Y N/A BHE BAE
13 S7r 5 E71%(<0.822) £ 71 &(<0.975)
14 | “Nb 5 £ 71 Z(<0.535) £ 71 Z(<0.581)
15 | "Rh N/A EAE EAE
16 | '"Ru N/A EA=E ks
17 | %Rh N/A ek 4=
18 | “Cd N/A EA=E ks
19 | "mA N/A 2HE BAZ
20 | '"Ssn N/A ek ek
2 ! 15 B Z(<0.519) B4 2(<0.702)
2 | Xe N/A 2= BA4E
3 | BmXe N/A EHE EAE
24 | PCs 5 E 7 E(<0.444) E71£(<0.393)
% | 1cs 5 H27.42;0.117 ., 1.49+0.108
E7E(<0.477) B £(<0.487)
2% | ¥Ce N/A ek ek
27 | "Ba 70 EHZ(<1.78) EAE(<2.21)
28 | "La 70 EAE(<1.97) EE(<6.04)
29 | MCe N/A BHE 4=
30 | Ce N/A ek 4=
31 | "Ce N/A EAE EA=
3 20871 N/A e 4=
3 | *Bi N/A EHE 4=
3% | *Pb N/A EHE HE
35 214p§ N/A ek ek
3 | *MPb N/A EHE HE
37 | *Ra N/A 37.5+2.84 39.8+2.93
38 | *'Th N/A ERE 4=
39 | PAc N/A 21E BA4Z
0 | U N/A 2.3540.199 =HE
41 s N/A ek ek

1. "Be(M 2 F), “K(Z¥), *Ra(zhg), *U(F-2hHr) 2 A
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